A7 L BE4E vi2 A B A2 o AJY7?
6 6+6 6 6-6 6 6x0
®ﬂ 24 + 6 @ﬂ_u—ﬁ ®ﬁ 24 % 0
6 66 6 60
@ﬂ_24+6 ©ﬂ 24+ 0
Hrel Bztof o o] ofd e £5 FlAY
Bt BALE ( o] ofd -2 52 Lpofof
B9 2717} ¥skA] 5yt




@ 2 @ 3 ® 6 @)8 ® 12

367} 48 9] FoFE oS 4 QYT 367 489 FoFr=
367} 48 9] | tFoFo] oFpe} At 367 489 3=
4) 36 48
3) 9 12

3 4

oAl 4x 3 =124t}
whabA] 367} 48 2] FoF= 129 oF 1, 2, 3, 4, 6, 120]t}.




25 D o sjorrsm o] Hrel Bate] A8

5EA Q.

48 48316 3

80 80=16 5
(ERo} Bl 2} =5-3=2




=

=

Hagiet

2) 18 8
9 4

o] 2x9x4=720]BF

(5 1) (5><4 1x9) <
18”8 18x4° 8x9

20 9

72" 72

) g




240 27|15 Hlsto] Okl >, < &

4 3
5%

vV V¥
0

i

v

~&B

15, 209] HAFH| 4= 60| B2

4 16 3 9
2 oyt

156020 60

4 3,
meb > 2 gy,

9




30
84

27
72

@

24
64

®

15
40

S
14

30+6
84 +6

50 _
84




12
15

3><3_9

3_3x3_ 9
5 5x3 15




Bl Bxpo] gho] 49 o] 11, oFEshH

249 74E T4 L.

7t EjE 24

[S20 )

> E.

> Fg 21

B

2 4 6 8 10 12 14
- — ...

T10 15 20 25 30 35

whebA] 35 — 14 = 21 YU T},

olmz Humet Baho] go] 49 9 B4t 1 Yuiek.




73
(G O
® (3 31) (5 3)

5 259 259 AFH|4
D 56, @ 18, ® 20, @ 24, ® 27

£ 23




10. 7Py 2 250k b 2L B

- 1=

gol £ B9 HaPsE 35

T3 1
9’ 4’ 6
14 3) (28 27) (9 2)
@(18’ 18 @ 36> 36 ® 12° 12
42 9 18 4
® (ﬁ’ 54) (ﬂ’ 24)

Z(_§)>§<_2_7)
9\ 36 4\ 36

3/ 9\ 1/ 2
= = _ | = — A
4( 12)>6 12)0ﬂ1
Z>§>EO]E§
97176

Zl) (E i)m
(9’6 BASTIET) Rk




g

b

TSN BERF24Q BRE RE T

ro,
A




A golu] o)Al EolE7kA o] Azl 12km o] L, BT

A2l 12k 0] 2, SRS AR 12 km U A
oA 71 W FE 2.
>

> He:

o
Bl

B

2 16 5 15 5
12=1=,1-=1=—,1==1
37724778 24776
5 2 5
A, 12 <15 <1= olBg
wehA, o Sl =l |
2] gold] HeollA 7 | 2

20
24




1.46

®1

1
®

46 23 12
_— 122 1=
100 2 50 @ 50

D1

o
©
4_m
ToBE
KRN s
e |l |
= - D
S I
— — —
I Il I
©
~
—




14. v F A A=z 2 59 7|98 2A L.

1 199
93 © oo

6

— @ 0.22
©%
> E:
g<i= Q)

6
199 _ 4199, g5 =024

’ 1000




52 =

2704

ul
&0

.l

>

2704
T 52

52 X 52
1 x 52




16. ojH E49] BRoM 15 & w1l 8 2 ¢FEsIAHY Z o] 5]9j& Ut

oW B4g 7
> =
56

o

8

HA2.




17. H7]9p o] ZH7FR A AES F 7| &2

o 2ol B8} 242 21, 22, 23, 24, 251 D 7
M7t 71 A AL o= AAA kA2

H7]

0| =
ool w

of oF ofF @F

~&B

g

719k E47t E2d EAto & & =5
220} Forg7t 18 o]ofof 3y
Zt B9 E24] & = e 9 H =
o3 25y
®1,2,4,5,8,10,11,13,16,17,19,20 — 1278
®1,3,5,7,9,13,15,17,19,21 — 107}
®1~22- 227
@ 1,5,7,11,13,17,19,23 — 87}
® 5,10,15,20 = A<t Y =] — 2074

rr




[a\R e

a ™

— |

77B

0[O

10 | ©
[a\ W Kap)
— |

(e.0)
~|%

[a e

YoV}
[a\][2n}

— |y

7_o.m

o

off Wefief Bl

w5te] 24

o

7€
5
6

m oo

on
0 | ©

[\B K]

— |
~ | %

N

et A




=
B 2 A AR T, BRE
7 B4 galel 2rel g
19 2717t g Bak 2 oln

26

o
— 1
26 5

=
'L
+
N
i)
iu)
o

Bwoh 220] o] G4 Be-g ol T
2 Al




20. of® #50) LRI A A2 114 HakgeY 2 7} Sl g,

ol ol 377 2o B4 FollA BR7E20 By 317 30 Hot
Zke BB JSHA Q.

> E:
.7
>ael 5

~&B

22 o R} Al 12 Ha] A

Ao
32-11 21 o]
=— of3l
83-11 72 ’
o] B4l 27|17t FL BHE FoW




